2-2 EEHh AIERR L5 R E - AL (BEMIAXE) A REST
ER22% % 128
g o TER= AL E LIS
Ei HLA R AE 5 (60K %) (60kefE %) (F3/60ke)
JtiEE PN EEFESY 1,483.0 - —
= Hi TLA 330.0 165.0 6,600
oh ILA 495.0 - -
y=pll PN LA 165.0 - -
EHY PN HF14h 165.0 — —
LV A b &) 165.0 - -
ENES) 2,803.0 165.0 6,600
TERg225E 1B
et o LiEH= EiL#=E AL
Et AL AR IR (60kg %) (60kgfE %) (F9/60kg)
dtiEE KA EEFESY 2,991.0 - -
=F Fh L FJiaxt 330.0 - -
=5 PN ] IOt 330.0 — —
g N IoLA 330.0 - -
h i I LA 330.0 — -
= PNl FAVIL 165.0 - -
o g FAYVIL 165.0 - -
FHi LA 495.0 165.0 6,620
Fh i LA 330.0 — -
=yl N 1] LA 330.0 - -
i LA 165.0 — -
=BH K IoLA 165.0 165.0 6,500
SR Xpi_ [HFash 165.0 - -
ENES) 6,291.0 330.0 6,560
TRi224E % 2R
gt o FTiE#s EiE= & FLME
Ei HLA R A2 5 (60KkefEE) (60kehE%H) (F3/60ke)
tiEE PN EEFESTY 7,423.0 - -
=F Fh L FJioaxt 4950 — -
=5 PN ] IOt 500.0 — —
A PN JEYZ ) 500.0 - -
i RAL JELyLi Y 1,660.0 — -
o g DELpY Ny 830.0 - =
Nl I LA 500.0 - -
353 KA BFFHIN 165.0 - -
BN PN BFFHIN 1,825.0 500.0 6,310
b K ToLA 1,330.0 - -
= N A VI 165.0 165.0 6,800
o g FA VI 165.0 - -
pN ] I LA 1,155.0 660.0 6,565
th ILA 1,155.0 165.0 6,500
Al PN I LA 660.0 - -
o i IL4d 495.0 - =
RAL HROH 1 165.0 - -
F kL HOH 1 165.0 - -
F=E PN I LA 4950 — -
= F i ILA 495.0 - -
B% 0 K 253157 330.0 - -
HE RaL ] AAVIL 165.0 - -
b cEpf=h 165.0 - -
ZDih 165.0 - =
BEH KL HF14h 165.0 — —
o Xpi [HFash 330.0 165.0 6,500
ESE 21,663.0 1,655.0 6,498




ERR22% % 38

” o THH= EIL e AL
Eib HLA R A8 5 (60keA& %) (60ke &%) (F3/60kg)
itiEE PN EXFESY 41110 165.0 6,500
i A 330.0 330.0 6,200
=F N1 ZRAY) 330.0 - -
== i 7oAt 330.0 - -
Z D4 330.0 - Z
= i Sy¥ioof 330.0 — -
AR KL BFFHIN 830.0 - -
s RHI I LA 330.0 - —
= PN FAVIL 330.0 — -
55 3 TFIIL 165.0 = -
KAL I LA 4950 165.0 6,650
i IoLA 495.0 330.0 6,330
Al PNl I LA 330.0 165.0 6,500
o 7 LA 330.0 - -
RAL HROZH 12 165.0 - -
=H PN I LA 165.0 - -
==F 7] LA 165.0 - -
R PN ] BFFH I\ 4950 - -
% il Pl 751435 165.0 165.0 6,550
BE ZFDith 165.0 - -

E KAL HFa1EH 330.0 — -

BER PN ] HF14hH 165.0 165.0 6,450
WA RAL HF1R3H 165.0 165.0 6,580

pA Y Fa4ah 161.5 1615 6,400
ENES) 11,207.5 1,811.5 6,426
ERR225 % 48
gt o tiEHE EiL#= AL
Ei AL iR AB A (60kgfE ) (60kefE 20) (F9/60kg)
dtiEE PN T 14.4155 45775 6,300
==F i FIH 1,485.0 - -
=F F T F2 IS A%t 660.0 — -
Faolil 825.0 - -
U E FFL Jargk™y 1,330.0 1,330.0 6,271
Hr i DELpYi Y 1,330.0 - -

i PN ] JaIRD 1,660.0 - -

) KFiL BFFHIN 330.0 165.0 6,400
5 PN ] BFFHIN 165.0 165.0 6,730
b i LA 1,330.0 - -
= N FAAVIL 989.0 329.0 6,861

chfi FAVIL 663.0 330.0 6,280
ki LA 2,808.5 2,808.5 6,840
th ToLA 21450 1,815.0 6,297
alll PN ILA 1,155.0 165.0 6,500
thf LA 1,155.0 660.0 6,200
=H PN LA 825.0 330.0 6,460
th IoLA 660.0 330.0 6,340
R RAL BFFH I\ 990.0 - -
B4 rp i PUE%D) 182.5 1825 6,350
Z 50 o #if 293155H 660.0 - -
HE PN ] FTAYIL 165.0 165.0 6,510
el FTAVIL 660.0 660.0 6,180
ZDih 990.0 165.0 6,010
[EHY b1 HF155 4950 495.0 6,493
2ap i HF13h 165.0 165.0 6,510
BB KAHL HFa14h 1725 172.5 6,410
mak} HF14H 165.0 165.0 6,460




g o LiEH= L= AL
Ei AL AR IR (60kgfE %) (60kefE 20) (F9,/60kg)
LE KL HF1EH 168.5 168.5 7,100
[Tis PN HF15AH 495.0 4950 6,600
Eakl 253145A 186.0 - -
5[] ZFDith 1,331.5 - -
RE EaL ] 2915H 220.0 220.0 6,880
ZDin 1,873.0 - Z
) KAl J493143h 170.0 170.0 6,800
____|Znil 641.5 - =
EE 43,661.5 16,228.5 6,445
SER22%E 58
g o LiE#H= EiL#=E AL
Ei AL R AB AR (60kghE %) (60kefE %) (F9/60kg)
dtiEE PN EEFESY 5,724.5 1,865.5 6,233
F AL A H 1,485.0 - -
P=ES s +2JS 0%t 825.0 - -
ZFDith 330.0 - -
M H PN a7k 495.0 - -
== 0] 1)o7k 995.0 - -
[ RAL 1R 4950 - —
(==Fy 1)aroR™ 330.0 - -
2E KA BFFHIN 330.0 - -
i K I LA 330.0 - -
=il N A VI 330.0 330.0 6,590
B i AAVIL 311.5 - -
PN il LA 1,649.5 1,649.5 6,861
aof i I LA 2,640.0 1,320.0 6,338
Z D 111.5 - -
R KA I LA 660.0 - -
FR AT I LA 495.0 - -
AL HOCH 1 165.0 - -
m AL HOH 1 330.0 - -
= PN I LA 495.0 4950 6,397
FR AT I LA 495.0 - -
5% FR AT 2531435 182.5 1825 6,630
A0 KAI 2731435h 165.0 — -
F i 2514358 495.0 4950 6,650
=5 R 251435 165.0 165.0 6,620
HE KA AL 445 — —
=2} 1 V)L 525.0 - -
o cEFEh 165.0 - -
Hh ki 2531495h 168.0 168.0 6,200
| ZDith 1,414.0 - -
|45 ] ZNDith 1,255.0 330.0 6,505
®EE ZDith 4335 - -
HEX Z D4 1,419.0 — -
7 H 25315A 165.0 165.0 6,820
I ()] 165.0 - -
£E 25,783.5 7,165.5 6,498
SER22%E 68
- o Lis#E L= AL
Ei AL R AB A (60kghE %) (60kefE %) (F9./60kg)
JtiEE PN EEFESY 42730 2201.0 6,674
Rakl FHHE 2,970.0 - -
P=ES Fh kL +2JS 0% 990.0 330.0 6,500
dh &y DENpY iy 330.0 - -
Z D 4950 - -
=% RHL BFFHIN 165.0 - -




g o LiEH= L= AL
Eit AL AR IR (60kg %) (60kgfE %) (F3/60kg)
i HE Fh i oDk 1,825.0 - -
2 == JargRy 1,320.0 - -
BE RaEa] BFFHIN 1375 137.5 6,830
ZFDith 27.5 275 6,830
b PN I LA 1,320.0 - -
Z D 165.0 165.0 5,010
= N A VIL 1,485.5 165.0 6,430
o g FAYIL 330.0 - -
PN I LA 2,318.0 2.153.0 6,932
oh i I LA 3,676.5 3,346.5 6,349
ZDin 1,165.5 165.0 6,410
Rl RAL I LA 825.0 330.0 6,300
o ip LA 495.0 - =
AL HChta 165.0 - —
Fh g HOH 1 165.0 - -
=H N LA 660.0 495.0 6,397
oh if LA 495.0 - -
¥ PNl BFFHIN 1,485.0 - -
ZDin 330.0 - =
I BB N 2531435 329.5 329.5 6,642
ZHN PN 253157 165.0 165.0 7,060
Rak i 293143h 825.0 825.0 6,768
ZDin 4950 - -
= ZDih 330.0 - -
HE PN 1] FAVIL 311.0 - —
=2} 1 FAYIL 554.5 4945 6,300
N ] 2593145A 245 245 6,200
F AT 253145A 19.0 19.0 6,200
| ZFDith 4,024.5 1,969.0 6,155
|42 [ ZFDith 561.5 561.5 6,601
[P35 ZDih 165.0 165.0 6,500
HEX Z D4 2,574.0 1,316.5 6,268
X5 I E o) 200.5 - -
£ 38,192.5 15,385.0 6,487
TERi225 % 18
g o LiBH= EiL#= E AL
Eit AL AR IR (60kg %) (60kgfE %) (F9/60kg)
dtiEE PN EEFESY 3,1280 488.0 6,525
th FH 1,320.0 - -
= oy BHTT 165.0 - -
FIES th 2Ry 388.5 - -
= KHi SOt 165.0 - -
T BFFHIN 995.0 - -
FhE F AT JEEyLi v 1,500.0 - -
Z D4 330.0 - -
2 oh 5 JENrZinv) 495.0 - -
HE PN ] BFFHIN 310.0 310.0 6,622
o i BFFHIN 20.0 20.0 6,840
i PN IoLA 5,435.0 4,652.5 6,793
= R LA 330.0 330.0 6,650
Z D 3,547.5 660.0 6,000
Al PN ] I LA 330.0 330.0 6,300
i I LA 330.0 330.0 6,250
Z D 165.0 165.0 5,510
=2H RHL I LA 330.0 165.0 6,400
£EH PNl BAFFHIN 1,485.0 - —
F AT FhtFY) 187.5 165.0 7.220
ZDith 642.5 - -




g o LiEH= L= AL
| E ARl FiE AR (60kefE &) (60kefE &) (F3/60kg)
0 PN i 29149h 162.0 162.0 7,120
th JH31435h 515.0 515.0 7,066
HE FHi A VI 301.0 150.5 6,910
oy A VIL 330.0 165.0 6,990
Dk 100.0 50.0 6,910
A ___|Zoi 5175 517.5 6,520
2[F 23,524.5 9.175.5 6,663
TERg224 % 8H
e o TEH= EILE AL
Ei ML AR ER (60kekR %) (60kefE3) (F3/60kg)
TEa TR CrESY 930.0 600.0 6.050
b i FH 660.0 - -
=571 PNl SEoox 165.0 165.0 7.100
i i BFFHIN 1,240.0 - -
i HE H i JELyZi v 1,736.5 - —
¥ PN i BFFHIN 1,320.0 - -
Z D 659.0 - -
5 th i P EY T 165.0 165.0 7,250
HE PN 2931435 20.0 20.0 6,100
chi 79145 38.5 38.5 6,100
I 0l 116.0 116.0 6,100
2[F 7,050.0 1,104.5 6,394
TRi224E % 9R
- o Li5#s EHE= &AL
Ei FiL I R AB AR (60kehE ) (60kefE %) (F9/60kg)
itiEE PN ] EEXFESY 1,720.0 - -
H i FhHE 330.0 - -
= Fh i BFFHIN 620.0 - -
EH Kb [BFFAN 660.0 - -
Z2[F 3,330.0 0.0 0






